Volleyball Box Score
2018 San Diego State Volleyball
Utah State vs San Diego State (Nov 01, 2018 at San Diego, Calif.)

Attack Serve Block
# Utah State S K E TA Pct| Ast|SA SE[RE| Dig|BS BA BE| BH Pts
6 JOHNSON, Kassidy 3 2 0 5 .400| 20| 1 2| O 51 0 3 O 0 -
7 PACKARD, Ally 3 0 0 0 .000 2 0 0| O 6| 0O 0O O 0 -
8 OLSON-SHEPHERD, Madi 2 0 0 0 .000 Ol O Of 1 3] 0O 0 O 0 -
10 O'BRIEN, Lauren 3 1 4 7 -.429 Ol 0O Of o 1/ 0 4 O 0 -
21 LARSEN, Corinne 3 5 3 10 .200 ol 1 2 0 Ol 0O 0 O 0 -
39 SHUMWAY, Gabbi 3 5 3 28 .071 11 0 1| 1 1/ 0 0 O 0 -
1 HINTON-BELNAP, lzzie 1 0 0 2 .000 Ol O O O ol 0 1 1 0 -
2 TAYLOR, Tasia 3 0 0 0 .000 11 0 2| O 71 0 0 O 0 -
9 DOWNING, Bailey 2 5 5 15 .000 Ol O Of 1 Ol 0O 0 O 0 -
11 SOLOSABAL, Whitney 3| 10 2 19 421 O] O 0Of 2 1/ 0 0 O 0 -
15 JENSEN, Preslee 1 0 0 0 .000 0l 0 0] O 0] O 0 O 0 -
Team 2
Totals 3 28 17 86 .128 24 2 7| 7 24 0 8 1 0] -
Team Attack By Set TOTAL TEAM BLOCKS: 4.0
Set K ETA Pct
1 14 6 33 .242 SET SCORES 1 2 3 Team Records:
2 8 4 23 .174 Utah State (0) 22 15 21 5-19, 3-10 MW
3 6 7 30 -.033 San Diego State (3) 25 25 25 8-18, 6-7 MW
Attack Serve Block
# San Diego State S K E TA Pct| Ast|SA SE|RE| Dig{BS BA BE| BH| Pts
3 WALKER, Andrea 3 3 0 5 .600 Ol O O O ol 0o 2 O 0 -
7 TURNLUND, Hannah 3| 13 3 24 417 0] O 0] O 0] O 1 O 0 -
9 PEOPLES, Gabi 3 0 0 1 .000| 33| 0 0| O 5] 0 1 O 2 -
12 GILLCRIST, Erin 2 5 4 15 .067 Ol 0O Of O 2l 0 1 O 1 -
15 HARRIS, Deja 3 9 1 19 421 Ol O O O ol 0o 1 O 0 -
18 REEVES, Tamia 3 9 3 18 .333 ol 1 1 O 2l 0 2 O 0 -
6 DUNBAR, Ashlynn 3 0 1 2 -.500 11 3 4| 1| 111 0 O O 0 -
8 TETER, Loren 3 0 0 0 .000 3] 3 1 O 8/ 0 0O O 0 -
17 McGRATH, Sam 3 0 0 1 .000 11 O 0| O 1/ 0 0 O 0 -
19 LENN, Maddie 3 0 0 0 .000 11 0 3| 1 6| 0O 0O O 0 -
21 O'SULLIVAN, Victoria 2 2 2 5 .000 0Ol 0O 0ol O 0Ol 0O 0O 0o 0 -
Totals 3| 41 14 90 300 39| 7 9| 2| 3| 0 8 O 3 -

Team Attack By Set
Set K ETA Pct

1
2
3

14 4 31 .323
14 2 24 .500
13 8 35 .143

Site: San Diego, Calif. (Peterson Gym)

TOTAL TEAM BLOCKS: 4.0

Date: Nov 01, 2018 Attend: 164 Time: 1:29

Referees:

Tie scores
Lead change

i
=
2

AN
o r|lw




